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1.1, Complete the SST hasing on time diagram. I the tahle is not solvable, mark the placement of the E
pryper borders (1.5 p). \ \
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1.2, For the 88T given below provide: .
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1.3, For the function definitions given below, provide the minimal expressions for implementation:
a) for Z using NOR gaies (| pt), b) for W ousing ~vr flip-flop {1 pt).
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2.1. For the circuit described by the tique chart proyide the primitive flow map 4
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2.3. For the flow table given conduet the reduction of compatible states (2™ reduction ]; = 5 } Il[; [I] = Z
stage) for Mealy machine, obtaining the minimal number of rows. Draw the merger - = 711
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diagram (0.5 pts), present the symbolic flow map, encoded binary internal state map SN 0
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i.l. Design the graph for the sequemntial circuit detecting that the sum of bits in 2-bit words given to dw
serial inpul X oguals we 1. R should be signalled by setting the owtput =1 for tw single clock period

{ 1.5 pk).
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below. Apply synchronous illegal state recovery. Provide the bisary program map (2 pt).
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1.1, For the circudl described by the program map present the equations for the implementation foe T

flip-flops (1.5 pt).
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optimal as possible in respect to the memory size. Provide the solution in the form of:

a) microprogram proper for the given diagram (2.5 pt),
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4. Design microprogrammable circuit working according to the presented graph. The solution should be
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